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1 e AJ=L1H R 37 39 76
2 EH 15 IFERSF 37 40 77
3T ARG IFERSF 37 41 78
3T HlI [EF] IFERSF 41 37 78
3T /A FiE TV 39 39 78
3T EE & ERNG 37 41 78
T XH B2 A EILE 38 41 79
T TiE =i WFETEE 39 40 79
T IMNITE &1l 39 40 79
10T Al EB =FH/l 40 40 80
10T Eg el 35 L2 ELE 41 39 80
12T RIFEEKA WFFHEM L E 40 41 81
12T EE FE IFERSF 40 41 81
14T IR IFE L2EELE 40 42 82
14T 5 B IFERSF 41 41 82
14T B =F81U 41 41 82
14T A BE NG 42 40 82
18T A &= &1l 41 42 83
18T i =B =F81U 41 42 83
18T WA B\ WFFHEM L E 42 41 83
18T {E% ZI1E BEtH 42 41 83
22T il & IFERSF 41 43 84
22T Jnk Béa A EILE 41 43 84
22T g EI =N 41 43 84
22T f2H A8 N 44 40 84
22T O o ERNG 44 40 84
22T HO #E IFERSF 41 43 84
22T XX B— WFEH EE 39 45 84
20T EH F= WFFHEM 2 E 45 40 85
20T INRR i WFE B 40 45 85
20T ZES N 41 44 85
32T Hf & WFEH EE 44 42 86
32T a7 158 WEHZRM L E 45 41 86
32T Ed::lins WFFHEM 2 E 46 40 86
32T iy R win WFFHEMH L E 43 43 86
32T ik B A=L142 43 43 86
32T FE EX AT EBILE 44 42 86
32T EEHFMt WFETEE 46 40 86
39T B IEE 2o EILE 41 46 87
39T hE IFERSF 42 45 87
39T I E X WFETEE 44 43 87
39T B)Il F0i WFETEE 43 44 87
39T FAIEX A=L142 45 42 87
44T TR Zih IFERF 41 47 88
44T ELEN e EILE 42 46 88
44T EZ- G IR 42 46 88
47 2R BE— IFERF 45 44 89
48T FE $8X WFFHEMH L E 43 48 91
48T WF BT EIF 43 48 91
50T — B =4 &1l 43 49 92
50T T B IR 50 42 92
50T #RAR i WFFHEM 2 E 47 45 92
53T ® B WFFHEM L E 49 44 93
53T fEFxEX IFERSF 46 47 93
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